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OBB0FE=ZE HIDIAH2 =4 g2 =&
2,450,000& 2,450
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= 20,000
Al 482,395
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SHXHLER 29 28,160 28,760 A 600
201 Bt 4,660 4,660 0
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203 R F & 12,000 12,000 0
03 Al 2 =& 2 = X H| 12,000 12,000 0
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ORLZ2&(T/FE) AMEAYLEHY|
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Al 454 235
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101 Q121 H| 24,845 23,509 1,336
04 JI2ZtHIZ2 2 NEES 24,845 23,509 1,336
OB(sE =202 ER 2| o1 (1H) 24,845
-JE3 1,822,480& 1 ~12& 21,870
-MEo= 209,000& x1H x12& 2,508
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
2ed ZH 2438 71,498 84,288 A12,790
CAMPE At 235t 2t & d 3t ALY 65,898 58,288 7,610
201 Let24d] 63,938 55,488 8,450
01 At 22/l 28,938 20,488 8,450
OHRUEHEEH 29 Le=&Hl  8,000,000& 8,000
O%gs &t 84 Xz 6,450,000 6,450
OXNZgds MY SE/BE2 HE
10,000, 000& 10,000
OAHRUEIHH NI otE2E =55
88,000 1204 & 1,056
OHRUEIHEH A8 M2 =2
110, 000& 1204 & 1,320
OAHFRUEHMH 527 otz =2
176,000 1204 & 2,112
02 =24l 35,000 35,000 0
OAHRULIEIHEH 2323 (&I #—E s)
2,000,000& 22,000
OAHNRUEIHEH Ss&Hl |22l
5,000,000& 5,000
OCCTV SAE+HI(SFESRSAME, HRLUENH
g) 4,000,000% *2J4 & 8,000
202 (44l 1,960 2,800 A 840
01 S LHOIYI 1,960 2,800 A 840
OFEyeEdg R4 &3H 1,960,000 1,960
Bas BEZE AECE 29 5,600 26,000 A 20,400
201 £B-2d | 5,600 26,000 A 20,400
01 At 22/l 600 11,000 A 10,400
O2S AL 2LF HEE A=
100,000 »3H »23| 600
02 =24l 5,000 10,000 A5,000
OFL oA A4 X2l 5,000,000& 5,000
MAEQ Stz He =8 22,000 22,000 0
SHME st SEAMY =X 22,000 22,000 0
S2Ae S8 FX 22,000 22,000 0
201 ¢er24| 1,000 1,000 0
01 At 22/l 1,000 1,000 0
OSZ2ALY ZT (A M= &)
1,000,000 1,000
207 & O & Hl 19,000 19,000 0
1H2E S| 19,000 19,000 0
OZ2AY Jl=Hs A gY 19,000, 000& 19,000
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SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
303 L&t 3 2,000 2,000 0
01 243 2,000 2,000 0
OZ32ZAMY JMHMOE Za3 2,000,000& 2,000
Y2 (MSASE ) 31,000 48,700 A 17,700
Jl2Zd(d2Ag ) 31,000 48,700 A 17,700
Jl2Hl (MSA ) 31,000 45,400 A 14,400
201 ¢4l 13,000 13,000 0
01 AF2 22l bl 10,000 10,000 0
OFNM2I AR 22l 10,000, 000& 10,000
02 23=24gHl 3,000 3,000 0
Oxtg Rl 3,000,000 3,000
202 Oddl 14,400 28,800 A 14,400
01 = LH 4 Hi 14,400 28,800 A 14,400
OJl2g2+80idl(15%) 14,400,000 14,400
203 YR =& 3,600 3,600 0
04 FN2ELSZ=TH| 3,600 3,600 0
OfMSIYRFadI(2021015t)
300,000& =122 3,600




